Step 7: Subiract 2 Fractions
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Varied Fluency 1
Use the images below to help you calculate the subiraction. i
|
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Varied Fluency 1
Use the images below to help you calculate the subiraction. [
|
| 7 4 _ 3
5 5 5
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Varied Fluency 2

Match the calculation to the correct answer.

12 6 _ [ |
7 7
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7 1
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Varied Fluency 2

Match the calculation to the correct answer.

12 6 _ |5
7 7 7
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Varied Fluency 3

Circle the calculation that matches the representation. .
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Varied Fluency 3

Circle the calculation that matches the representation.

18 8 18 7

10 10 10 10
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Varied Fluency 4

Complete the calculations.
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Varied Fluency 4

Complete the calculations.
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Reasoning 1

Anika’s ribbon measures % metres. .

| Simon’s ribbon measures % less than Anika'’s.

N . Simon’s ribbon is
3 of a metre.
6 Y

Anika

Is she correct? Explain your answer.

Fres Yo 9y
CRTeIe e T

© Classroom Secrets Limited 2019



Reasoning 1

Anika’s ribbon measures % melres. m

' Simon’s ribbon measures % less than Anika'’s.

~
7 ¢ Simon’s ribbon is
3_ of a metre.

6 J

Anika

Is she correct? Explain your answer.

No, Anika is incorrect because...
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Reasoning 1

Anika’s ribbon measures % melres.

] Simon’s ribbon measures % less than Anika'’s.

Is she correct? Explain your answer.

No, Anika is incorrect because % 4 - 4

Y Simon’s ribbon is
i 3_ of a metre.
\ 6 J
Anika
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Problem Solving 1

Use the digit cards to complete this calculation. You can use each ir
card more than once if you wish.

SN o

(8

’ 6 8 10 4

16
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Problem Solving 1

Use the digit cards to complete this calculation. You can use each r
card more than once if you wish.

3 6 8 10 4
16 8 8
10 10 10
Various answers, one example is shown above.
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14 7

8 8

Reasoning 2

Are these calculations the same?

14
8

-

Use the shapes to prove your answer.
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Reasoning 2

| Are these calculations the same?

14 7
8 ~ 8

Use the shapes to prove your answer.
The calculations are not the same because...
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Are these calculations the same?

7 7 &8 D 9
8 -8 ~8 ™78 "8 "8 7
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Reasoning 2

Use the shapes to prove your answer.
The calculations are not the same because:

14 5 3




